Al (3x—2y-1) — (x =3y —4) & 7tds] o}H?

@ 2x-3y-5 @ 2x-2y-5 @ 2x-2y+4
(@)2x+y+3 ® 2x+2y+3




—[¥® = {2x -5 (x+3)} — 347

@ -2x2-x+8 @)2x2 +x-8 @ 2x2-3x-2

@ —4x? -3x-2 ® —4x*-3x-8

(FA) = - {#* - (2x- 5-x-3) - 3x?}
=— {3 - (x-8) - 342}
=—(x2—x+8—3x2)
=—(-2x>-x+38)
=2x+x-8
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ofd oA oA 3x -y + 45 HfoF 2
5x + 3y —1°] Eiet. o] of, vf=7 741’*&@ —8—‘7

@ 3x-5y+1 @ 3x+y+16 ® 1llx-5y—-4

@11x+y+7 ® 16x-2y+5
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-(Bx—-y+4)=5x+3y-1
=Bx+3y—-1)+Bx—y+4)=8x+2y+3
 (8x+2y+3)+(3x—-y+4)

=1lx+y+7




4. 3x(x+2y-4)=Ax>+Bxy-Cx¥ W, A+ B+ C #2?

® 2 @ 3 ® -3 @21 ® -4

3x(x+ 2y —4) = 3x% + 6xy — 12x
LJA+B+HC=3+6+12=21




5.  x(—2x+5y—1)—2xy(x+ 3y +4) = 7tds] 5t
TotH?
@D -8 @—3 ® 3 @ 9

® 15

x(—2x+ 5y — 1) — 2xy(x + 3y + 4)

= —2x% 4+ bxy — x — 2x%y — 6xy% — 8xy || Al
xy @9t At B 5xy — 8xy = —3uxy
=3




(12a%b — 18a3b?) + 6ab — 2a(6ab — 4a)

@O —15ab + 10a @ -15a%b + 10a
® -15ab + 10a? @ -15ab? + 1042
@—15a2b + 10a?

(12a3b — 18a3b?)+6ab — 2a(6ab — 4a)
= 2a® — 3a®b — 12a%b + 8a?
= —15a2b + 1042
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@361% @ 3ab? 3 3a%b? @ ab ® ab?

h = T72a*b? + (4a® X 6b) = ——— = 3a2b




x=-2, y=3 9, the e ke

(4x+3y—-1)—(-2x+4y+5)

@2 o-5 09 @1 O

dx+3y-14+2x-4y-5=6x—-y—6
=-12-3-6
=-21




2y,B:2x+y%] o, 2(3A - 2B) - 3(2A -B) € x, y °I

® 2x+y @)-2x—-y ® 5x—y
@ 3x-y ® x-3y
2(3A-2B)-3(2A-B) =6A-4B-6A +3B=-B

webA B = 2x+ y B HHASHE B = —2x -y o]},




10. 8x-2y+2=4dx-y-3 4 W, 2x-3y+1 S xol ¥ Ao
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D -10x+16 @)-10x-14 ® 12x+ 16

@ 10x-14 ® 10x-16

B ,
8x—2y+2=dx—y—30]B& y=dx+50|ch
2x—-3y+1=2x-3(4x+5)+1

=2x—-12x-15+1

=-10x-14




